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1. I{E"{H mﬂ&ﬂt o
district of Ue‘.m}’.amﬁ_h_werma - .
() Ambalg S | S
(C) Rohtak () 1“._
(D) Karnay “B) g
2 : (C) T
r Mver rio- 18 Dy
nmdu - is be]rwadhbatha (0) Famm
(A) Yam o fedd () ﬁmﬁg
un AN
(C) Markan?:fa ) Saragyay ST 2 |
a9
- ;:F}?arr?:-l ':?etfe?“siﬂiﬂabte davelnpmant 3! . o :
s v Oped a Forggt Policy during HHfR Mﬁ T

(A) 2006

(B) 2018
(C) 2014

(D) 2018

Pinjore gardens are also called as
(A) Vmndavan

(B} Yadavindra.gardens
(C) -Nandanavana_
(B} Rose gardens

5. is the main soil problem in| 5.
Haryana. i

(A) Drought (B) Soil erosion

(C) Earthquake (D) Flood It

Consider the following statements abuu_fl' 6
River Dolphin. |

(4) Théyaré’faurﬂinaangaﬁﬁﬂmhmap ra

river basin b

(B) Locally they are called ‘Stsy’
C} They are a blind species

(D) Al the above

— said Haryana is derived from

"
s
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14. Findth
rmn.arnl:t-a;arl:g'I Mberwhich is oy like the othe;
(A) B4
(C) 220 \B)2s

15.

16.

1 75

18.

Wa
Legendary : th;;:.;. i oTile
(A) Mughal (B) .S!aval
(C) Bharata (D) Nizam
Which of the following com
Mmittees sat
make recommendation abot Furfdsam:ﬁt:;

Duties ?
(A) Gadgil Committee

(B) Swaran Singh Committee
(C) Santhanam Committee
(D} J. S. Verma Committee

Suiutmns -:}f the equation

—4a%x +(a'—bY) =O0are__
] | S .agur-.
{A}F“’&—% b & .l b
' —" - .
(B) a+b,a-b
(C) 2a%h + b7 2ab

[ ——

————
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{B] Hahh:garh:
. ‘@w‘qf@@ha

16. ﬁﬁiﬁ:ﬂ?ﬁﬁﬁ%mﬁ
Hﬁﬁ‘h-ﬁﬂfﬁﬁ[m -:-

(A) mefrE afufy
(B) =i fie wfify &

V(C) Turm afifs
(D) 1. 78. 79 wffy

1 aiﬂm;ﬁ(*--mm + jaf-aﬂn*ﬁ, =

Ay
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20. During which year Sacchar
% by a I’urrnura Was
(A) 1947 (B) 1948
(C) 1949 (D) 1948

21, I'YES'is coded as ‘49, 'NO’ is coded as
(A) 29 (B) 19
(C) 39 (D) 25

22. Two conducting wires of same material of
equal lengths and equal diameters are first
connected in series and then in parallelin a
circuit across the same potential difference.
The ratio of heat produced in series to
parallel combinations would be

(A} 1:2 8) 2:1
C) 1:4 (D) 4:1

23. Consider the following statements about

the coastal plains of India, il

1. The Western Coastal Plains are a
example of submerged coastal pIﬁEﬁ

2. Eastern Coastal Plains prc:mcfaﬂfﬂm
ﬁ%ﬁfal condition'for the dmw

: astern Coastal hgm i5 br a:@
s an ammp!a n?anamarga coasl.
4. Eastern Coastal Plain well de

deltas here, formed by the i L
eastward mmthaﬁayﬂf...d_

Select the answer code.

(4) 1and. (B) 2a
© Snmi'é © 1

iatij*?ém‘
20. ﬁazﬁ%ﬁmmﬁagﬁﬁmm'?
(A) 1947 (B) 1948
-1::} 1949 (D) 1946

1. TR YES w2 49, R, Al NO'H T2 BT
“{ﬁl 2 (B) 18
(© (D) 25

% Wmﬁfﬂmmmmm
o it 3 e i e 5 e
ﬁaﬁémﬂ%n{@m%ﬂmﬁrﬁﬁm
Wﬂaﬂms‘m -
CRE

23. WRA % a1 Be & o H Geferias Fuat
7 Ta=n

.
‘2. ey st v

= e
5 E
AR TR D e b Y,
4 i i :
a_ 3y k- :
¥ 1 el A T
= 1
] - -
1aT r
I‘ 1 ", kY : i
o /
il e f
I ] T rar 1 -

\\\\\
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26. Which of tha following is not a factors of
production ?
(A) Fixed capital
(B) Working capital
(C) Dividend earned by entrepre neurs
(D) None of the above

27. Ifthe equations 3x —ay =9 and X +Y = 3
represent the same line thena =

(A) 3 (B) -1

{C} -3 {D) none of these
28. Rani Jhansi Marine National Park is

situated in

(A) Tamil Nadu
(B) Pondicherry
(C) Andaman and Nicobar Islands
(D) Lakshadweep
29. Thevalue of cot 12° cot 38° cot 52° cot 60°

cot 78%is

(A) g0 (B) 1
st . 1

T

‘Majaalis Ulnisa is written by

@ 'hmﬂf Hussian Haal

29, cot 12° cot 88° cot 52° cot 6
f iy @; e = o

30, Fsiferd If _

|u.l | |
| |
I T

26. ﬁnﬁf@aﬁﬁﬂqmmmb
T2 2

(B) FrivfE Gl
(C) Jafti gru sifsia wmae
(D) IF 8 A 37 |
27. f2 il 3x — ay = 9 3 x 4y = TR
) % el &, dla = ]
(A) 3 B) -1 A
AC) -3 (D) FHE3
28. T =T ESIC]
o hﬁﬂ,i‘m‘fﬂl
sA(A) T e
() witsslt
(C) a7ew R FEeEm &
(D) wTE

e L~ .
(&) 0 i

p*{cﬁ ¥, IC 4 ©) -
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a3, i P{E] 0.38, then probability of ‘not E' js
(A) 0.72 (B) 0.73
(C) 0.62 (D) 05
34. Four cubes each of side 4 cm are joined
endto end. The surface area of the resulting
solid is
(A) 144 cm? (B) 16 cm?
(C) 288cm? (D) nene of these
35. Haryanacomes second after in
cattle breeding in India.
(A) Karnataka (B) Punjab

(C) Gujarath (D) Tamil Nadu

Read the following statements.

1. Atpresentin india there are more than
- 750 universities.

2. Sarva Siksha Abhiyan is aimqg,sgﬁli

‘providing elementary education to.

@I@ﬁldrﬁﬂiﬁﬁb aga gmupw

najobs.in
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33. 7R P(E)=0.38, 7 ‘ETE Fl Wlwwa 8
(A) 0.72 (B) 0.73
“{C) 0.62 (D) 05
34. 4 B I AT 4 T F] A Th T

%mﬂﬁaw%immﬁq@ﬂ
&A% ©

(A) 144 cm? ~(B) 16 cm?
L1€) 288cm? (D) 78 @ HE 7

Bframom wrE | TeraeE 4 Far
AR |
(A) T "B) T
(C) s (D) afferaTg

36. Fmfafes =ydi =1 ofzw |
1. msammuﬁﬂhamﬁﬁ

AT

it fr %‘fﬂﬁrﬁﬂ}ﬂﬂﬁ#

- a@ﬁwmmm
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39. It'k' means '+, 'm means ', ‘n' means ',
and 'p' means '+ then 15n2k5mépd=

(A) 16 ) 6
(C) E% (D) none of these
40. Five years ago, a woman's age was the

square of her son's age, Ten years |ater,
her age will be twice that of her son's age.
Find the present age of the woman.

(A) 25years
(C) 20vyears

(B) 24 years
(D) 30 years

41. 1f 0isthe zero of the polynomial
f(x) = 2ax* + (a + 1)x — 5a then value of ais

(A) 5

(B) 0

(G) 1

(D) none of these

Agmusical instrument with single string
attached to a Bamboo piece is called as
(A} Chimta {B) Drum

(C) Damru (D) Iktara

42.

Which of the following is incorrect with
reference to the urbanisation process under
British rule in the 19" century ?

(A) In the process new urban spaces
called Civil Lines were set up, 10

' accommodate Indian elites
B (B) For the British, the "Black” areas
came to symbolise not only chaos and

e , but also filth and disease

ments, hill stations were a

42, wHalE REEHS B U e Wit 2

|ﬂﬂ.'ﬂl_ll |

39, AR EHd Y, mE ad i T 4
g @ ad @ 15n2ksmépa=

(A) 18 B) 6 }

v 7 () wH BT

40, ﬂaﬁﬁ.ﬁmﬁmzﬂ%gﬂﬂa@
w4 | 1034 @, IqH ATG A A
gﬁ@ﬁmnmﬁaﬂmmm

|

(B) 2474
(D) 30

(A) 2574
(C) 2074

41, IfE FETEHE 1(x) = 2a¢ + (a+ 1)x — 5a F1 TF
7= 0%, AaFiEER

(A) 5 |
(B} O I
1
L
|

46.

Va1 (T

0y T REE

FETALE | ¥
®
a5, 19 e T i e
(A) T s 3 7o e #am f
o

(a) Fama

(C) SHE= 47.
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44. Find the word which is different from the | 44. ‘-ﬂ%ﬁﬂ“‘lwﬁ%ﬁﬂﬁﬂw
other 3 options given balow. (A) T .
(A) Polite
(8) Citizen B) A
(C) Impatient () a9
(D) Humble (D) ferfa ,
45. To welcome rains festival is |  45. aﬂmmﬂﬂﬁ*ﬁﬂ{mﬁ
celebrated in Haryana. wiTER B A S
(B) Onam (B) ™
(C) Teeg HC) = .
(D) MNaga Panchami (D) A =
46. The Istands of this archipelago have storm | 46. 38 2 #qe & 2 # uff 42 @ s/@afea
beaches consisting of unconsclidated | = e, 112, wifem, mgﬁwg@
pebbles, shingles, cobbles and boulders frmc 2 :wﬁmﬁaﬁﬂ 2
on the eastern seaboard. Here the is
refers to. __ A7) %ﬁ
(A) Andaman and Nie:nha?" £ lﬂ' %?I e
{n}mmweepwm ..-—l.
47. The values of i@'{g +laF
equations (a — hlﬂi‘ g -‘EFI%
‘and (a +b) (x+Y) =48 i x3
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48. The age of Retirement of Chief Justice of
Supreme Court is
(A) 62 (B) 64
(C) 85 (D) 66
50. The Tajewala Barrage is located on the
river
(A) Yamunanagar (B) Gaggar
{C) Saragwathi (D) Ganga

51. Findthe missing letters (7) from the options
for DEF, GHI, JKL, 7, PQR

(A) NOP
(B) LMN
(C) MMN
(D) MNO

52 Cow slaughter in Haryana is punishable with
R unﬁ&ﬁauuansh Sanrakshan
LOW.onmmees
(A) mlmmmmt ranging from

; .is’?-ﬁ:‘-' s imprisonment ranging

~ 1to2years {7

- [C) Rigorous imprisonment of § months

!E,} ‘Rigorous imprisonment ra from
2to 3 years e

hich of the following is true about Home
"MD':!Ernanthlndia‘?

51. DEF, GHI, JKL, 2. POR et
Wﬂm{ﬂmaﬁ; e forrei 3

(A} NOP
(B) LMN
(C) MMN
+D) MNO

52. mmam T T & A
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61. Sunder Dassisa
(A) Jain poet
(C) Haryanvi

(B) Hindi poet
(D) Urdu poet

| - deshi
Lala Lajpat Rai participated in Swaces
- Andolan from 4 qimﬁd of Haryana.

(A) Sonipat
(C) Hisar

number obtained by reversis
its digits is 121 and the two digits differ by 3.
Then the number is
(A) 47 or 74 (B) 370r73
(C) 250r52 (D) none of these
als which are good conductors of heat
jong the following
: (B) Lead
(D) Zinc

scribed in a square of side

7 i —

-*.é -.I

(B) 370173

(0) FHAFE

64. Fmfiiias i & o2 w1 S 1 R |
v(A) i ®) @
© W (D) S

_ A Al S e

65, AR, %ﬁﬁﬂfﬁh%w

(A) mem®

(C}) 250r52

B 2nem

.;-:_-r,__ N
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g9. They had not done their work.,

AA) Their work had not been done by

them'
(8) Their work was not done by them
(C) They have not done their work -+
(D) Their work is not done by them %

70. Whom did you laugh at ?
~ _{A) By whom was you laughed at ?
(B) Who was laughed at by you ?
(C) You were laughed at by whom ?
(D) Did you laughatwho? i I|’

Fill in the blanks wﬁhagpmpﬁ&%é prepositions.
. Itis very different toenter
<hip with'a person you donotknow

(D) by

72. A Banyan tree stands __— =

English Langu2d®

42018 (1) (E1

i ight.
until midnight lgft mﬁh

e d
{A) | have rea .
(8) |have been raa;img "
(C) lam rg'gding
(D) | was reading

74

Use appropriate modals to fill in the blanks.

75. Do not put off till tomorrow what yoL
do today.

would

could

will

can|

(A)

(B)

(C)
D).

76. lranfastsothat| _______ catch the
train. : '
(A) should
(B) may |

“AC) shall e o

oa cthe

77. He doesn't have __
m‘ L - A

b

HLI
= i
i

(A at
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